Winkley and White Corporation Notes:

The best place to begin is with the end.  The end result of this analysis should confirm or refute whether the reduced price that W and W will charge Samantha and Mastercraft for essentially the same product sold to WW’s independent distributors, constitutes a violation of Robinson-Patman.   That conclusion requires an analysis of the profit margins for products sold to each of the customers.  

At the bottom of the template provided to assist in your analysis are two boxes.  One reports the net profit per unit before the price reduction and the other after the price reduction.  If margins for WW products sold to independent distributors are significantly greater than the margins for products sold to Samantha and Mastercraft, then there may be sufficient grounds for arguing WW has violated Robinson-Patman and Samantha and Mastercraft have an unfair price advantage over WW’s OEM competitor customers.  Are the lower prices to S and M warranted by lower costs?

The task then is to compute the total cost per unit for products sold to each customer.  This requires that the financial information provided in the case be disaggregated into three separate statements.  One statement for products sold to WW independent distributions, one for products sold to Samantha and one for products sold to Mastercraft.  For the later two, the sales figure must be computed on the basis of the new price, which represents a 5% reduction of the original price.  You are given the number of units sold to each customer.  The spreadsheet also provides the % of units sold to each.  This % will prove to be useful in sorting out the cost of each cost line item.

The next task is to determine the cost for products sold to each customer.

1. Other than insulation and gaskets, the raw materials, wages and factory overhead is the same PER UNIT for each customer.

2. Since the financial information provided is for all three products we know that the material required for Samantha and Mastercraft is $6 per unit lower.  So, the material cost for S and M products must be adjusted to allocate more to WW products and less to S and M products.  I have provided the numbers on the spreadsheet for you.  But take a look at where the numbers came from and reason why.

3. S and M products require only a 30-day supply of RM, WIP, and FG.  WW products require a 100-day supply.  Therefore, only 30% of the beginning and ending inventory is associated with S and M products respectively.  The rest is for WW.  Note the computation provided in the spreadsheet ($604,313) is the ending inventory to support the requirements for Mastercraft products.   That should help you figure out how to compute the dollar value of beginning and ending inventory for each product category.  

4. The case provides information about how product warranty costs, freight out, and selling and administrative costs are incurred only for WW products.

5. General and Administrative as well as Allocated Corporate Overhead would seem to be costs required to administrate the business of WW.  So, if you were looking for a meaningful way to allocate that cost among the products, what would you think?  Are administrative costs likely to be “consumed” in the same proportion as the number or units of each product?  Or, is there another more reasonable method to allocate these costs? (Activity based costing is in fact one method, but that lesson will have to wait for another lifetime). 

6. The case states that allocated corporate overhead includes interest expense.  We are going to ignore that note and assume instead that corporate headquarters does not allocate finance costs to operating divisions.  

7. When companies acquire inventory, it takes a while before the inventory is converted into finished goods and then longer before those goods are sold and then longer still until the cash is collected from the sale of those goods.  So, the longer a business ties up its cash in inventory and receivables, the more interest costs there is on funds borrowed to buy the inventory.  So, the problem requires that we include in the cost of these three products, inventory and receivable carrying charges.  For inventory carrying charges you must compute the effective cost of borrowing funds to finance inventory.   Since compensating balances must be maintained the company does not get full use of all the funds borrowed.  This essentially means that the effective cost of borrowing is greater than the rate stated on the loan.  So, the 8% rate must be adjusted first by the premium over prime and then for the compensating balance (which increases the rate by 125% in this case).  

8. Compute the inventory carrying costs by estimating the cost of ending inventory.  For WW branded goods, that is done by dividing COGS by 365 days and then multiply by 100 days, which is the normal days supply of inventory.   This result is then multiplied by carrying charge to get the inventory carrying costs.  Follow the same procedure to compute the carrying charge for inventory of S and M products.  

9. Receivables carrying cost is computed based on the number of days it takes to collect.  Estimate the value of ending accounts receivable (sales/365)* 60 days.   Multiple the results by the carrying charge for receivables (8%).

10. Now you should be able to determine the total cost for each product and then the unit cost for each product.  With that detail you can now compute the net margin per unit for all three products.  

11. Be careful that all of your numbers “foot and crossfoot”.   Look to make sure the numbers make sense.

12. Your analysis should include a description of Robinson-Patman and what that act means in general along with what it means in this case.  Is WW likely to be liable for price discrimination?  Have any of the provisions of R-P been violated?

13. Explain your numbers!!  Explain where they came from and what you are doing.  I have tried to give you a way to organize the information and make sense of it.  Feel free to modify the format of the spreadsheet to suit your needs or concerns.  

